5.5

5.115 The hydroelectric turbine shown in Fig. P5.1i5 passes 8
million gal/min across a head of 600 tt. What is the maximum

amount of power output possible? Why will the actual amount,
be less?

From the ener\yy equation

Gzt dythh =B 124 7
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And ’ the power is given by
W, = YQh =J'Q[(zz—zj )’*/&*E‘%]

The maximvm power would occur /f there were no losses (h,=0)

and negligible kinetic energy at the exit (V, %0 large diamefer outlet).
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The mipus Sign s associated with power out.

The achnal fower will be less ‘7 Gmounts cmpmndiry o logs
and  exit Kined x%egy.

5=]25




